Drawing Title: 211M18-01

©.32
[8.13]

Piezoelectric Load Washer Sensor 21 | M8 Dimensions

OPTIONAL SPACER [IF REQUIRED]

®.25

- [6.30] ,
Pin DIA + 0.005 [0.127]

Clearance Per Side

@ .25
[6.38]

+.000
310903

0
[7.87_0.08}

\=7

D .65
— [1650] T

®.50
[12.7]

NOTES:
1 ENCLOSED EJECTOR BOX SUGGESTED.
2. DO NOT SCALE PRINT
3. BREAKALL SHARP EDGES, 0.005 [0.03] R MAX
4. DIMENSIONS IN INCHES [MM], UNLESS NOTED
5. TOLERANCES UNLESS SPECIFIED:

XXX = +0.003 [0.08]

XX = +0.01[0.3]

ANGLES = +3° 30°

@ .500+.003
[12.70+0.08]

.100+.003
[2.54+0.08]

#10-32 Connector
UNF-2A Thread

@

RJG

MOLD SHAFRT

s Tharss sd‘.:. I H o
=11 | sl

Description: 211M18 Sensor
Installation

Drawn: K.J.Brettschneider

Design:

Check: M.Groleau

Date: 01.27.2022



Drawing Title: 211M18-02

Piezoelectric Load Washer Sensor 21 | M8 Standard Installation

—

-

A
? O
e
‘\J
O
[ 111V
4 1
/ (ME=—=[__I
SECTION A-A
SCALE1:2
NOTES:
1. ENCLOSED EJECTOR BOX SUGGESTED.
2. DO NOT SCALE PRINT
3. BREAK ALL SHARP EDGES, 0.005 [0.03] R MAX
4, DIMENSIONS IN INCHES [MM], UNLESS NOTED
5. TOLERANCES UNLESS SPECIFIED:

XXX = +0.003 [0.08]
XX = +0.01[0.3]
ANGLES = +3° 30°

Sensor Electronics Case

/

MOLD SHAFRT

* Fk Eoe Trawerss Siy, W 22002
B | L [ S TR

O RIG

Description: 211M18 Sensor
Installation

Drawn: K.J.Brettschneider

Design:

Check: M.Groleau

Date: 01.27.2022



Drawing Title: 211M18-03

>

|
i
|
I
I
|
I
J

Piezoelectric Load Washer Sensor 21 | M 18 Standard Installation

+.01

01 %80
+0.25
o -~ [0.25 5 }

not to exceed 20% of
part wall thickness

0.03-0.06
\ Y — [0.76—1.52]
* Sleeve Head Counterbore
r 1
o3 10F-00
[7-87+8'08}
e %/
o DIA of Sleeve Head + 0.12 [3.0]
if Sleeve Head > Sensor DIA
+.01
67
-.00
['6'9 0 } - - [6.670.08]
DETAILB
SCALE 3 : |

NOTES:

ENCLOSED EJECTOR BOX SUGGESTED.
. DO NOT SCALE PRINT

BREAK ALL SHARP EDGES, 0.005 [0.03] R MAX

N —

3.
4. DIMENSIONS IN INCHES [MM], UNLESS NOTED
5

Drawn: K.J.Brettschneider
XX =+0.01]0.3]

MOLD SHAFRT

Design:
ANGLES = +3° 30°

Description: 211M18 Sensor
RJ Cj Installation
. TOLERANCES UNLESS SPECIFIED: )
XXX = +0.003 [0.08]
-

ZuEwezseies (Check: M.Groleau

Date: 01.27.2022



Drawing Title: 211M18-04

Piezoelectric Load Washer Sensor 21 IM |8 Optional Installation

NOTES:

N —

3.
4.
5.

ENCLOSED EJECTOR BOX SUGGESTED.

DO NOT SCALE PRINT

BREAK ALL SHARP EDGES, 0.005 [0.03] R MAX
DIMENSIONS IN INCHES [MM], UNLESS NOTED

TOLERANCES UNLESS SPECIFIED:
XXX = +0.003 [0.08]
XX = +0.01[0.3]
ANGLES = +3° 30°

Customer-supplied spacer required if head of sleeve contacts
less than 80% of sensor loading surface.

o1+

+0.25
02502

not to exceed 20% of
part wall thickness

00

il 0.03-0.06

[ [0.76-1.52]

Sleeve Head
Counterbore

?

+
.4|0 _ '000

.003

+0.08
[I0.4I 0 }

!

74

DIA of Sleeve Head + 3.0 [.12]
if Sleeve Head > Sensor DIA

®.263+.003

+.01 T
67 _ 00
+0.3 —
T
DETAIL C
SCALE 3 : |

[6.67+0.08]

MOLD SHAFRT

* Fk Eoe Trawerss Siy, W 22002
B | L [ S TR

O RIG

Description: 211M18 Sensor
Installation

Drawn: K.J.Brettschneider

Design:

Check: M.Groleau

Date: 01.27.2022



Drawing Title: 211M18-05

Piezoelectric Load Washer Sensor 21 | M 18 Single-Channel Installation

[ ] 22
EE — [ss] -
.42
i =51 Xlis 4 _>4 . [36] -
- - 79
— % [10.50] ~— o] ;
4 !
T [10.3]
O

|

|

|

|

\

|

|

|

45 i
25 [11.5]

740 B
@mz—:[/

197 A
\

O
.28 ||
T [7] |

O
.344

|
‘.
|
|
|
|
|
|
|
|
|
|
7 /)
\ Q 7 7
(8.75] \
|
|
l|—

R.10
[2.54]
.89
48]
— Before First -
Cable Bend
Vv 0.310[7.78]
NOTES:
1. ENCLOSED EJECTOR BOX SUGGESTED
2. DO NOT SCALE PRINT

3 BREAK ALL SHARP EDGES, 0.005 [0.03] R MAX
4. DIMENSIONS IN INCHES [MM], UNLESS NOTED
5 TOLERANCES UNLESS SPECIFIED:

XXX = +0.003 [0.08]

XX = +0.01[0.3]

ANGLES = +3° 30°

Drawn: K.J.Brettschneider
MOLD =M ART DeSIgn

Check: M.Groleau
Date: 01.27.2022

s Tharss sd‘.:. I H o
=111 | wea

Description: 211M18 Sensor
@@ RJ Cj Installation




Drawing Title: 211M18-06

Piezoelectric Load Washer Sensor 211M18 Four-Channel Installation
Four-Channel Piezoelectric Sensor Connector PZ-4 Installation

r ) M4 x 0.7 & 9 mm (2PL)
t P4
110 q 24
8] |© W) O 6]
A
¢ 0000 { ! : .
2.05 * \L
- : _ 1.88 - -
[52] [48] ©
PZ-4
o o
O,
\ \ }
PSSy 98
i sl g [2s]
|.46 38 49 s L .14
L . ) 29
[37] [9.53] [13] [¢] 2]
1.73
ol T
2.32
[59]
NOTES:
1 ENCLOSED EJECTOR BOX SUGGESTED.
2. DONOT SCALE PRINT Description: 211M18 Sensor
3. BREAK ALL SHARP EDGES, 0.005 [0.03] R MAX Installation
4, DIMENSIONS IN INCHES [MM], UNLESS NOTED @ I:\)J Cj : :
5 TOLERANCES UNLESS SPECIFIED: "\Drawn: K.J.Brettschneider
XXX = +0.003 [0.08] mMare =maET Design:
XX =0.01[0.3] ke et M |Check: M.Groleau
ANGLES = +3° 30 Date: 01.27.2022




Drawing Title: 211M18-07

Piezoelectric Load Washer Sensor 211M18 Eight-Channel Installation
Eight-Channel Piezoelectric Sensor Connector PZ-8 Installation

M4 x 0.7 ¥ 9 mm (2PL)

'[25 1
2*0 *
[51]

&

T
[28] O O
¢ 0000
B 2.68 N
- [68] -—
5 PZ8
o o
L 0000
\ ¢ l .14
l \ \ .98 )
Q Q ! \ \ [\ 25 [29]
2.09 .38 \ 49

2.36

2.95

NOTES:
ENCLOSED EJECTOR BOX SUGGESTED
DO NOT SCALE PRINT
BREAK ALL SHARP EDGES, 0.005 [0.03] R MAX
DIMENSIONS IN INCHES [MM], UNLESS NOTED
TOLERANCES UNLESS SPECIFIED:

XXX = +0.003 [0.08]

XX = +0.01[0.3]

ANGLES = +3° 30°

SENSINES

~— 5

~— o]

5]

ih
O

Description: 211M18 Sensor

Design:

e Thers= CiY. M 62062 Check: M.Groleau

=11 | sl

RJ Cj Installation
Drawn: K.J.Brettschneider

Date: 01.27.2022



	211M18_01
	Drawing View5
	Drawing View7
	Drawing View8
	Drawing View24

	211M18_02
	Drawing View22
	Drawing View25
	Drawing View26
	Section View A-A

	211M18_03
	Drawing View20
	Detail View B (3 : 1)

	211M18_04
	Drawing View15
	Detail View C (3 : 1)

	211M18_05
	Drawing View18
	Drawing View19

	211M18_06
	Drawing View28
	Drawing View29
	Drawing View30
	Drawing View31

	211M18_07
	Drawing View32
	Drawing View33
	Drawing View34
	Drawing View35


